
ln the beetles described in the animation, there were two alleles for color, brown and green. Suppose
that you discover a very small population of these beetles, consisting of the individuals shown below.
How can you calculate the frequency of each allele in ihis population?

I need the question above answered. I think I know how to do the work but not explain it.

I needed to answer these questions also. My answers are at the end of each question in red. Would

you please check them for me?

1. To calculate the frequency of the brown allele, count the number of 

- 

and divide by the

total number of alleles in this population. (brown alleles)

2. ln this beetle population, the number of brown alleles is

3.

4.

ln this beetle population, the total number of alleles for color is (10)

The frequency of brown alleles iri this beetle population is

5. The frequency of the green alleles in this beetle population is

(21

(.21

(.8)


